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(1) —KEF-HFAl=E (BT %)
= i A& fHIERTDEE| HIERE &t i

— f& = 51| 49,965,673 75,713| 50,041,386 0.15
e Al = £+| 33,493,450 0| 33,493,450 0.00
K 2 BE R K % 3l & 5| 20,884,891 0| 20,884,891 0.00
it &R K % Al & | 9930175 0| 9,930,175  0.00
BHEHREEERS IS5 1575165 0| 1,575,165 0.00
EREEHEKEXSIEE 866458 0| 866,458 0.00
ITHREEESEXSIRE 236,761 0 236,761|  0.00
a &t 83,459,123 75,713| 83,534,836  0.09

(2) KEBXRE (B FH. %)
X & fHIERTDRE| #HIERE &t B R

Roo&® M 4 A 4,165,223 0| 4,165223| 0.00
&% M X W 3,664,839 0| 3,664,839 0.00
E X B I A 11,774 0 11,774|  0.00
E X M X H 2,310,899 0| 2310899 0.00
(3) TKEEXRG (B FH. %)
X & fHIERTDEE| HIERE &t HaE R

oo #® M 4 A 3,843,004 0| 3,843,004 0.00
v & M X H 3,840,359 0| 3,840,359 0.00
E X WM I A 1,849,214 0| 15849214/ 000
E X B X H 2,733,771 0| 2733771 0.0




	（率あり）会計別

